19 818 (2 HOLES)

\
\\\‘ \\\g

N
\

Fil
SACRIFICIAL ZINC |\

COLLAR

CEMENT

146

TECHNICAL PARAMETERS
DRY FLASHOVER VOLTAGE
WET FLASHOVER VOLTAGE
DRY WITHSTAND VOLTAGE (Min.)
WET WITHSTAND VOLTAGE (Min.)

MECHANICAL STRENGTH (Min.)
LEAKAGE DISTANCE
PROTECTED LEAKAGE DISTANCE

@18 HOLE

) 50% IMPULSE FLASHOVER VOLTAGE (Pos.)
50% IMPULSE FLASHOVER VOLTAGE (Neg.)
PUNCTURE TEST WITHSTAND VOLTAGE

75kV
50KV
T0kV
45kV
130kV
140kV

(Min.)  110kv

70kN
280mm
200mm

DO REF: CDO/9424 ECP REF: - DRAWN: D HATTINGH DESIGNED: -

o254
2 | CLEVIS PIN 1| se004020 | Cee-Txcouse
m - @I 1_| DISC INSULATOR, CERAWIC / GLASS TYPE U70/CL WITH ZINC COLLAR 1 - .
© COPYRIGHT PROTECTED. PREPARED BY CENTRAL DRAWING OFFICE ; i DESCRIPTION ary| STORESITEM 1 prawing No
DINENSIONS  : mm SCALE :1:2 2018-09-18 201-03-18 -
TOLERANCE  :LIN#0.5 ANG£1® ITEM NO : 54001177 \\k\ SUSPENSION INSULATOR ‘ " TRANSNETI
MATERIAL - §\ freight rail
VERSION INFO  : NEW FRAME ADDED CLEVIS & TONGUE. BBB1158
APPROVED: § SMIT AUTHORISED: L 0 BORCHARD 11kV TRANSMISSION LINE VERSION 2 A
CHECKED: D HATTINGH




2 HOLES 214

2 HOLES 214

3kV DC ARM

SEE NOTES 2 & 3

NOTES

1.{TEM 2 TO BE TREATED WITH ULTIMEG 2000 - 372M (WHITE) BEFORE ASSEMBLY.
2. SHRINK ITEM 5 TO ITEM 2 BEFORE FITTING ITEMS 1,3 OR 4.

3.EPOXY ITEMS 1,2 & 3 TOGETHER BEFORE DRILLING HOLES

4. EPOXY ITEMS 1,2 & 4 TOGETHER BEFORE DRILLING HOLES.

5. ALL SURFACES TO BE SMOOTH

2 HOLES g1 ey 4
2 HOIES 214 / TiIV‘ TABLE
o -~} g‘\/mwwuwm.-....ﬂwwwﬁ. 3KV DC ARM £41032861
P ey g e Yy
25KV AC ARM 541032868
25kV AC ARM
SEE NOTES 244 5 | "DRIP SKIRT"- HEAT SHRINKABLE OUTDOOR SKIRTS (RAYCHEM MOD-85-357) 3 - -
4 | PIVOT ARM FRONT { 25KV AC ) 1 - BBB1673 ITEM 8
3 | PIVOT ARM FRONT {3V DC ) 1 - BBB1G73 ITEM 7
2 | PIVOT ARM 1 E BBE1673 ITEM 4
| PIVOT ARM BASE 1 BES1673 ITEM 6
@ COPYRIGHT PROTECTED. PREPARED BY CENTRAL DRAWING OFFICE ‘m_|@ nEs DESGRIETION WIK], STORCHIES: ], DiAwig Ho
DIMENSIONS ~ : mm SCALE  : 1:5 DO REF  : CDO/T670 +§ “‘ 1RANSNEF
TOLERANCE  : LN £1 ANG t-  ITEM NO: SEE TABLE ECP REF : BBF612
SLRME 5 LR el T . PIVOT ARM SUB ASSEMBLY, DOME ROOF TUNNEL, AN
VERSION INFO : REDRAWN AND REVISED. ITEMS 2 AND 5 CHANGED.  [DESIGNED - W F MANS
NOTE 2 CHANGED AND NOTES i AND 5 ADDED. CHECKED : J wan DYK +§\\ ADJUSTABLE CHTE SUPPORT FITTING, 3kV DC & 25kV AC BBEB1685
AUTHORISED iy




. -
L
iy
o

T i
o
= f
_&u_
= A
3
- CATENARY . TO TERMINATION
AT MAST
C o 1 s - - :
NOTES TO CONTACT WIRE
" ERTreTo R A MR M s D e W
SLE 2. THESE ARTICLES MUST BE MANUFACTURED UNDER THE MARK OF THE SABS.
[ caf” | o.or [connygron BPc| b uLTiMa INSTALLATION POSITION
A NO. | U-BOLTS oM mm | mm | mm | STRENGTA(kg)
AT-50 2 5 1 145 [ 105 | 18 | 123" 3000
P 2 o 0 |0 | e = 4_] CLEVIS PIN_e16 COMPLETE WITH WASHER & SPLIT PIN | T | - -
3 | U-BOLTS, M12 COMPLETE WITH NUTS & WASHERS oy . BBB1791 ITEM 3
L 2| SADDLE 1 - BBB1781 ITEM 2
nm.l.@} 1_| BoDY. o B BBB17981 ITEM |
I TEM DESCRIPTION QTY| STORESITEM | DRAWING NO
© COPYRIGHT PROTECTED ! ND NO
DIMENSIONS  : mm CALE : 1:2 DO REF :CDO/1045 CENTRAL DRAWING OFFICE n
TOLERANCE  : LINt- ANGt- ITEM NO : - ECP REF :2002-03¢ = SPOORNET
MATERIAL  : ALUMINIUM DRAWN  : JR Anthony
VERSION INFO : INSTALLATION POSITIGN ADDED AND "PROTOTYPE" REMOVED. |DESIGNED: Eberhardt-Martin cc STRAIN CLAMP (PISTOL GRIP) ASSEMBLY, BBBI790
CHECKED : JD van Dgk
ACSR CONDUCTORS. e £
A3




'=El/

HANDLE ASSEMBLY IN OFF POSITION

HANDLE ASSEMBLY IN ON POSITION

ITEM 1 (FOR

ot
TN
A

=]

1BSPX 11 THREADS | NCH

118

t

I

4AL0NG 80T

g

v
2 Epnflubim oy (EFSIES I (TS Y

[T

BACCROSSLUSS

ensss)

PRIVATE SIDINGS)

88

TEMS 1, 2000

N

e
2o

SPRING PN, SLOTTED TYPE 85 X 30 LONG

o5

SPRING PIN, SLOTTED TYPE, 25 X 40 LONG

DZR BRASS PIN 822 X 45 LONG

DZR BRASS SHAFT @18 X B3 LONG

DZR BRASS BUSH 022 X 12 LONG

PIPE FITTING, SPHEROIDAL GRAPHITE IRON TO SANS 553 GRADE SGS0

HANDLE; SPHEROIDAL GRAPHITE IRON TO SANS 963 GRADE SGE0

BASE, SPHEROIDAL GRAPHITE IRON TO SANS 983 GRADE SGS)

DRAWING NO

i
@
S

© COPYRIGHT PROTECTED. PREPARED BY CENTRAL DRAWING OFFICE DERCHETION Y], s imen
T osor ot
DIMENSIONS mm SCALE 1:2 00 REF COOI9108 A/
TOLERANCE LN z1 ANG =- [TEM NO ECP REF - e o ‘ IRANSNEI
WATERAL - NN DA Baamo APPROVED HANDLE ASSEMBLY freight rail
r——— Seves A TRACK SWITCH LOCKING B3B2568
VERSION 2




ITEM 2

SEE NOTE 4

NOTE
1 FOR RAIL BOND FASTENERS SEE SPECIFICATION BBB6017.
2. TORQUE ASSEMBLY ACCORDING TO MANUFACTURER'S SPECIFICATION. SINGLE BOND SINGLE BOND
3 ASSEMBLY TO FIT RAIL WEB OF 11,5mm TO 19mm. BOTH SIDES
4. DRILL @13,5mm HOLE IN RAIL WEB. NTS N1
5 | TERMINAL LUG e CEE-TU-0136
2 | NUT_ REXAGON, STAINLESS STEEL TO SPEC AISI GRADE 316, M12 1 : :
7| WEDGE LOCKING WASHER, STAINLESS STEEL TO SPEC AISI GRADE 304, M2 2 : -
2 | TINNED COPPER COLLAR WEDGE 2 : .
m 1@| T BOLT, HEXAGON HEAD, STAINLESS STEEL TO SPEC AIS| GRADE 304, M12 x 55. 1 . 5
TTEW STORES ITEM
& COPYRIGHT PROTECTED. PREPARED BY CENTRAL DRAWING OFFICE . o DESCRIPTION ary e DRAWING NO
DUERSIONS - 7 TSOME 1 T 28/02/2024 ’ T =ansnEr
e & I TEEE /) pvench CONNECTION OF OHTE BONDS feighera
VERSION INFO : QUATITY OF ITEM 3 CHANGED. b ——— TO WEB OF RAIL BBC7864
APPROVED : W SCHOEMAN AUTHORISED : T GOVENDER VERSION 5 A3

DOREF: CDO/ ED4T1

ECP REF

DRAWN

D HATTINGH

DESIGNED

CHECKED: D HATTINGH




© COPYRIGHT PROTECTED PREPARED BY CENTRAL DRAWING OFFICE

ARCING HORNS NOT SHOWN

ITEM 10
ARCING HORNS

NOTES

1 ORAWING TO BE READ N CONUUNCTION WETH SPECIAICATION CEE 0040

2 TO PREVENT "FREEZING” OF STAINLESS STEEL BOLTS B NUTS. ENSURE THAT THESE ARE
OF DIFFERENT GRADES STAINLESS STEEL (GRADE 304 FOR BOLTS AND GRADE 116 FOR NUTS)

8 | WASHER SPRING, STANLESS STEEL M2

37 | WASHER, FLAT, STARLESS STEEL ROUMD, Wi

i SCREW, STAMMLESS STEEL GRADE 384 HEX HEAD, M12 1 25 LONG

K SUT_STAMLESS STEEL GRADE 1S WEX M1

18 | SCROW, STAPLESS STEEL GRADE 308 HEX HEAD. W12 1 35 LONG

13 | NUT.STAIMLESS STEEL GRADE 315 HEX M8

1 GRUB SCREW. HEX SOCKET, STRMLESS STEEL GRADE 304, ME x 5 LONG

11 | OPERATING ROD COP

10 | MALE AND FEMALE ARGING HORNS

SWITCH BLADE SET

MOVING SWITCH BUADE ATTACHMENT

7 | FIXED SWITCH GLADE ATTACHMENT

VANDAL PROOF POST MISULATOR

BaCHM

SWATCH BLADE SMAFT

4 SWITCH BLADE PIVOT WASHER

3 | OPERATMG ROO LEVER

2 | SWATCH BIADE BUSH

BB0T3M

SIWICH BASE ASSEMSLY

.mT@u j DESCRIPTION

DINENSIONS mm SCALE 1:2
TOLERANCE LN =-  ANG - ITEM NO = 54014538
MATERIAL

VERSION INFO  Redrawr and updated

AUTHORISED L Borchge

e 25kV AC TRACK SWITCH ASSEMBLY

" ITRANSNET

Freight rail

BBCB743
VERSON 2




NOTES
1. BI-METAL CLAMP TO SPECIFICATION CEE 0063.
2. THE FOLLOWING PERMANENT MARKINGS MUST APPEAR ON THIS ARTICLE:
a) TRANSNET LOGO.
b) MANUFACTURERS IDENTIFICATION.
¢) DATED BATCH NUMBER.
d) WIRE SIZES.
¢) TORQUE = 50Nm

TABLE
CLAMP BOLT LENGTH STORES ITEM NO.
100mm? Al TO 160mm? Cu. 35mm -
160mm? Al TO 50mm? Cu. 35mm 54032363
160mm? Al TO 100mm? / 80mm? Cu. 35mm 54032375
160mm? Al TO 160mm? Cu. 35mm 54032387
250mm? Al TO 160mm? Cu. 40mm -
500mm? Al TO 160mm? Cu. 60mm 54016937
800mm? Al TO 160mm? Cu. 65mm 54016925

LOCKING WASHER, INTERNALLY TOOTHED, STAINLESS STEEL TO SPEC AISI GR 304, M12 2 : .
3 | NUT, HEXAGON, STAINLESS STEEL TO SPEC CEE0063, M12 2 = :
7 | BOLT, HEXAGON, STAINLESS STEEL TO SPEC CEE 0063, M12 (SEE TABLE) 2 . g
BI-METAL PARALLEL HALF CLAMP FOR 160mm? Al TO VARIOUS Cu. CONDUCTORS. 2 H BBD5138 SHT 5
BI-METAL PARALLEL HALF CLAMP FOR 800mm? Al TO 160mm? Cu. 2 : BBD5138 SHT 4
1 | BI-METAL PARALLEL HALF CLAMP FOR 500mm? Al TO 160mm? Cu. 2 2 BBD5138 SHT 3
BI-METAL PARALLEL HALF CLAMP FOR 250mm? Al TO 160mm? Cu. 2 i BBD5138 SHT 2
\m_ - @ BI-METAL PARALLEL HALF CLAMP FOR 100mm? Al TO 160mm? Cu. 2 g BBD5138 SHT 1
© COPYRIGHT PROTECTED. PREPARED BY CENTRAL DRAWING OFFICE ; o' DESCRIPTION ary| STORGSTEM | prawiG N
DIMENSIONS ~ :mm SCALE :1:1 2019-08-15 2019-08-15 v,
TOLERANCE  :LIN£0,5 ANG:-  ITEMNO :- ; BI-METALLIC PARALLEL CLAMP ‘ TRANSNEI
MATERIAL e freight rai
ght rail
ASSEMBLY, Al. CLAMP BODY BRD5138
VERSION INFO : REDRAWN AND NOTES ADDED WITH FORGED Cu. INSERT.
APPROVED: S SMIT AUTHORISED: L O BORCHARD VERSION 3 Ad
CHECKED: D HATTINGH

DO REF: CDO/ 9412 ECP REF: - DRAWN: D HATTINGH DESIGNED: -




R0 i PERMANENT FORGE COPPER
I/ : INSERT (2mm MIN. THICKNESS)
xl :
0 R85 @13 (2HOLES)
i
S| &' |
2
- R65L
|
R17 i
i
SECTION X-X
NOTES

1. WITH AN AMBIENT TEMPERATURE OF 20°C THE TEMPERATURE IN THE CLAMP
SHALL NOT EXCEED 60°C WHEN APPLYING THE CURRENT IN TABLE 1.

2. CLAMPING SURFACES TO BE SERRATED, PITCH 1,5x 0.3 DEEP.

3. ALL UNSP=CIFIED RADDI R2.

4. RECESS TO SUITE M12 NUT.

5, FOR ASSEMBLY, SEE DRAWING BBD5138.

6. BI-METAL CLAMP TO SPECIFICATION CEE 0063.

7. THE FOLLOWING PERMANENT MARKINGS MUST APPEAR ON THIS ARTICLE:
a) TRANSNET LOGO.
b) MANUFACTURERS IDENTIFICATION
c) DATED BATCH NUMBER.
d) WIRE S ZES.
e) TORQUE = 50Nm

© COPYRIGH™ PROTECTED. PREPARED BY CENTRAL DRAWING OFFICE

SEENOTE 2 I/

125

/ SEE NOTE 4

TABLE 1 {SEE NOTE 1)
CONTINUOUS 268A
5 MIN. 2924
1 MIN. 4B4A

- sl —

e

DIMENSIONS : mm
TOLERANCE : LINt 1 ANGt -

SCALE :1:1

MATERIAL ~ : ALUMINIUM ALLOY WITH PERMANENT FORGED
COPPER INSERT TO SPEC CEE 0063.

DRAWN . D HATTINGH

CHECKED : D HATTINGH

BI-METALLIC PARALLEL HALF CLAMP
100mm? ACSR 'SKUNK' CATENARY
TO 160mm? Cu.

“ TRANSNET
freight rail

BBD5138 SHT 1

VERSION 3 A3




31

e 10 I PERMANENT FORGE COPPER
1
i INSERT (2mm MIN. THICKNESS)
Ny "
_
- [}
i R8s @13 (2HOLES)
ko _
sl 1 Ir
772!
_ R1DS 5
m
R 18 !
I
SECTION X-X
NOTES

2

1. WITH AN AMBIENT TEMPERATURE OF 20°C THE TEMPERATURE IN THE CLAMP
SHALL NOT EXCEED 60°C WHEN APPLYING THE CURRENT IN TABLE 1.

2. CLAMPING SURFACES TO BE SERRATED, PITCH 1,5 x 0.3 DEEP.

3. ALL UNSPZCIFIED RADDI R2.

4. RECESS TO SUITE M12 NUT.

5. FOR ASSEMBLY, SEE DRAWING BBD5138.

6. BI-METAL CLAMP TO SPECIFICATION CEE 0063.

7. THE FOLLOWING PERMANENT MARKINGS MUST APPEAR ON THIS ARTICLE:
a) TRANSNET LOGO.
b) MANUFACTURERS IDENTIFICATION
¢) DATED 3ATCH NUMBER.
d) WIRE SIZES.
e} TORQUE = 50Nm

TABLE 1 (SEE NOTE 1)
CONTINUOUS 5T1A
SMIN. 922A

1 MIN. 1881A

/ SEE NOTE 4

13

SEE NOTE 2 —|
= =
SEE NOTE 2 =

SECTION Z-Z

© COPYRIGH™ PROTECTED. PREPARED BY CENTRAL DRAWING OFFICE

Ao

DIMENSIONS : mm SCALE :1:1

TOLERANCE : LINt 1 ANG% -

MATERIAL ~ : ALUMINIUM ALLOY WITH PERMANENT FORGED
COPPER INSERT TO SPEC CEE 0063.

DRAWN - D HATTINGH CHECKED : D HATTINGH

BI-METALLIC PARALLEL HALF CLAMP
250mm? Al FEEDER TO 160mm? Cu.

‘ TRANSNET

freight rail

BBD5138 SHT 2

VERSION 3 A3




PERMANENT FORGE COPPER
INSERT (2mm MIN. THICKNESS)

@

4 MIN.

SEE NOTE 2

@13 (2HOLES) !

e~ .

I

I

I

- 1 S—-—

I

=| i

I

B | ™— SEE NOTE 4 It
I
SEE NOTE 2 i
z
=
SECTION X-X ~ SECTION Z-Z
NOTES TABLE 1 (SEE NOTE 1)
1. WITH AN AMBIENT TEMPERATURE OF 20°C THE TEMPERATURE IN THE CLAMP CONTINUOUS | 1631A
SHALL NOT EXCEED 60°C WHEN APPLYING THE CURRENT IN TABLE 1. e ==
CLAMPING SURFACES TO BE SERRATED, PITCH 1.5 x 0,3 DEEP. :

ALL UNSPECIFIED RADDI R2. 1MIN, 8008A

RECESS TO SUITE M12 BOLT.

FOR ASSEMBLY, SEE DRAWING BBD5138.

BI-METAL CLAMP TQ SPECIFICATION CEE 0063.

THE FOLLOWING PERMANENT MARKINGS MUST APPEAR ON THIS ARTICLE:
a) TRANSNET LOGO.

b) MANUFACTURERS IDENTIFICATION.

c) DATED BATCH NUMBER.

d) WIRE SIZES.

) TORQUE = 50Nm

e o A e S8

e

© COPYRIGHT PROTECTED. PREPARED BY CENTRAL DRAWING OFFICE

DIMENSIONS : mm SCALE :1:1 “ ARANSHED
ML L AL LW PR BI-METALLIC PARALLEL HALF CLAMP i

COPPER INSERT TO SPEC CEE 0063. mQQ_._._Bn >_ _...mmDmx ._.O AQOSEN Oc. mmOm._mm m_._._. u
DRAWN - D HATTINGH CHECKED : D HATTINGH YERSION 3 A3




4MIN.

PERMANENT FORGE COPPER
TI X Z l'._ INSERT (2mm MIN. THICKNESS)

1 1
213 (2HOLES) . . SEE NOTE 2

2
. |/

R 1825 3%

|
.
i |
= -
I
|

L -

=
=
= SECTION Z-Z
SECTION X-X
NOTES
1. WITH AN AMBIENT TEMPERATURE OF 20°C THE "EMPERATURE IN THE CLAMP TABLE 1 (SEE NOTE 1)
SHALL NOT EXCEED 60°C WHEN APPLYING THE CURRENT IN TABLE 1, CONTINUOUS | 1631A
2. CLAMPING SURFACES TO BE SERRATED, PITCH 1,5 x 0,3 DEEP. prer ey
3. ALL UNSPECIFIED RADDI R2. .
4. RECESS TO SUITE M12 NUT. 1 MIN. 8008A

5. FOR ASSEMBLY, SEE DRAWING BBD5138.
§. BI-METAL CLANP TO SPECIFICATION CEE 0063.
7. THE FOLLOWING PERMANENT MARKINGS MUST APPEAR ON THIS ARTICLE:
2) TRANSNET LOGO.
b) MANUFACTURERS IDENTIFICATION.
c) DATED BATCH NUMBER.
d) WIRE SIZES.
€) TORQUE = 50Nm

O

© COPYRIGH™ PROTECTED. PREPARED BY CENTRAL DRAWING OFFICE

TOLERAE. | Lie 1 MG RO 1’ TRANSNET
MATERIAL . ALUMINIUM ALLOY WITH PERMANENT FORGED BI-METALLIC PARALLEL HALF CLAMP reightraii

COPPER INSERT TO SPEC CEE 0063. mcoBBN Al FEEDER ._.O ._mc33~ O:. BBD5138 SHT 4
DRAWN - D RATTINGH CHECKED _ D HATTINGH VERSION 3 A3




03

H PERMANENT FORGE COPPER
INSERT (Zmm MIN. THICKNESS)

/

45

SECTION X-X

NOTES
1. WITH AN AMBIENT TEMPERATURE OF 20°C THE TEMPERATURE IN THE CLAMP
SHALL NOT EXCEED 60°C WHEN APPLYING THE CURRENT IN TABLE 1
2. CLAMPING SURFACES TO BE SERRATED, PITCH 1,5 x 0,3 DEEP.
3. ALL UNSPZCIFIED RADDI R2.
4. RECESS TO SUITE M12 NUT.
5. FOR ASSEMBLY, SEE DRAWING BBD5138.
6. BI-METAL CLAMP TO SPECIFICATION CEE 0063.
7. THE FOLLOWING PERMANENT MARKINGS MUST APPEAR ON THIS ARTICLE:
3) TRANSNET LOGO.
b) MANUFACTURERS IDENTIFICATION.
c) DATED 3ATCH NUMBER.
d) WIRE SIZES.
) TORQUE = 50Nm

STORES ITEM
NUMBER

CONDUCTOR SIZES

DIMENSIONS

B C D E F

54032363 160mm? Al - 50mm? Cu.

85 45

355 17 | B |25 49

54032375 | 160mm? Al. - 100mm® / 80mm* Cu. |85 .ﬁ__.m

650| 17 | 1 | 245 53

54032387 160mm? Al. - 160mm? Cu.

0
85 2

850 17 | 32 |25 &

B 13 (2HOLES)

SEENOTE 2 £
=

SEE HOTE 2

TABLE 1 {SEE NOTE 1)

CONTINUQOUS 403A
5 MIN. 521A
1MIN. 1000A

© COPYRIGH™ PROTECTED. PREPARED BY CENTRAL DRAWING OFFICE

S ol —

DIMENSIONS : mm

MATERIAL

TOLERANCE : LINt 1 ANG:-
ALUMINIUM ALLOY WITH PERMANENT FORGED
COPPER INSERT TO SPEC CEE 0063.

2l

DRAWN - D HATTINGH

CHECKED : D HATTINGH

BI-METALLIC PARALLEL HALF CLAMP
160mm? ACSR 'TIGER' CATENARY
TO VARIOUS Cu. CONDUCTORS

“ TRANSNETI

freight rail

BBD5138 SHT 5

VERSION 3 A3




FEMALE CONTACT MALE CONTACT

& . - : : 3
E DOOOF FE
[iER i
_ L /§ /|@ .Mﬂmn:oz A-A

THIS AREA TO BE TINMED AFTER DRILLING (SEE WOTE 1)

THIS AREA TO BE TINNED AFTER DRILLING (SEE NOTE 1)

i
e —t
1

'WASHER, SPRING. STANLESS STEEL, ROUND, GALY. M10

WASHER, EPRING, STAMLESS STEEL ROUND, GALY. MiZ

WASHER SPRING. STAINLESS STEEL ROUND, GALV. M5

WASHER. FLAT. STUNLESS STEEL ROUND. GALV M12

WASHER, FLAT. STAINLESS STEEL, ROUND. GALY. M6

SPRING BUSHING - BAR ROUND. STEEL @22 x 5L (SEE WOTE 3

WUT, STAMLESS STEEL. HEX HEAD, GALY ME

NUT. STAIMLESS STEEL HEX. HEAD, GALV. M10

NUT, STAINLESS STEEL, HEX HEAD, GALV. M12

NUT, STANLESS STEEL HEX. MEAD, GALV N6

BOLY, STAMLESS STEEL HEX HEAD. GALY. MS x TOL

BOLT. STAINLESS STEEL HEX. HEAD. GALV.M10 x 35

'SCREW. STAMLESS STEEL HEX HEAD. GALV. M0 x B0L

BOLT. STAIMLESS STEEL MEX HEAD, GALV M12 x 35

NOTES

1) MINIMUM TIN PLATING THICKNESS p1i SPRING, STANLESS STEEL, 32.7 - 0022 » ID16 2 2¢L INSTALLED LENGTH

2) THESE SURFACES TO BE MACHINED TO FORM A SPACER, OD14 x 109 x 18L (SEE NOTE 3)

LEVEL CONTACT AREA WHEN MATED WITH ITEM 1
CLAMPING BRACKET - FLAT BAR, STEEL 52 x 52 x 5THK [SEE NOTE &)

3) ELECTROPLATE ITEMS 4 & 15 TO SANS 2081

#) HOT DIP GALVAMISE ITEM 3 TO SANS 121 AFTER DRILLING. FEMALE CONTACT - FLAT BAR. COPPER BO x 229 x ETHK

o i S e C S B Y P Y R B I I )

8
1
2
L)
1]
2
2
3
2
BOLT, STAIMLESS STEEL HEX HEAD, GALV. M16 x 45L 2
3
3
2
2
any

MALE CONTACT - FLAT BAR. COPPER 20 x 230 x 13THK

<@ = wescn

ﬂﬂmx“:ml DRAWING NO

© COPYRIGHT PROTECTED. PREPARED BY CENTRAL DRAWING OFFICE =
|[omensions  mem SCME . 1:1 0C REF - COO/SSSS TZmA =20 A/
”_ﬁwmm“-hn.“o :z 105 ANG 205 (TEM NO : 5401582 “?Hc w..!_o.nw \%H.zﬂ S T ﬁ .—?M.n..).-.w.ﬁ“u-mﬂ
CHESKED ) AN DrC i m\&Wﬁ\\“\\ 25kV AC TRACK SWITCH. wm.ﬁ.mmd
AUTHORISED




=

-LAT WASHER

fuiy

M
m
i
|

14
o

/ /
\,m | T
| | =
316 PIN - pis
20mm MIN ey m
T
AT N
\\\ //./W\\\\ ||/,//
N7 |
/ i
I —
7/ R _ \

FOR CLEVIS PIN SEE
DWG. No. H500110-3-133-E-DE-0074-01

FOR SPLIT PIN SEE
DWG No. CEE-TX 54

COPPER LINER-COASTAL %

(ONLY FOR USE

WITH COPPER CATENARY)

=

52 =
L e !
I \Mw | L_ i
e - * .
\ \.\WH// / 10 > la NS a
LN T
! f& / | L i
. ITEM 1
/
/ _
R g
NOTE
FOR CONDUCTOR SIZES 6-15mm (Dia )

@
e

M12 BOLT {HOLE DIA 13)

SECTION A-A

A‘— XXX X XXX XXX
> XXX X XXX XXX
Am_lat XXX X XXX XXX
e COPYRIGHT PROTECTED. PREPARED BY CENTRAL DRAWING OFFICE ; g DESCRIPTION ory| STORES [TEM prawinG nO
DIMENSIONS : mm SCALE : 1i1 DO REF_ BLEDZI DATE: Ae/i- 825 v,
TOLERANCE = LIN%%, XX ITEM NO: ANG¥%e  [CP REF :JJJJ/XXX § IRON ORE LINE ’ .“Jﬂzmzﬂ
MATERIAL = XXX DRAWN : A. KLOPPER = - n N reight rai
VERSION INFOXXX DESIGNED : A. KLOPPER AEPROVEL = OHTE - CATENARY SUSPENSION CLAMP BRGA497E
CHECKED :1.GOVENDER | =2#b="" Ll aes
AUTHORTSED A3




FOR TINNED COPPER LUGS FOR TINNED COPPER FERRULES
SEE BBH1332 SHT 1 SEE BBH1332 SHT 3

FOR ALUMINIUM LUGS FOR ALUMINIUM FERRULES
SEE BBH1332 SHT 2 SEE BBH1332 SHT 4

@

*NTS

© COPYRIGHT PROTECTED. PREPARED BY CENTRAL DRAWING OFFICE
+ |2 [oF [z

¥ 207/ Zo(8

“ TRANSNETI

DIMENSIONS  :mm SCALE
TOLERANCE  :LIN£0,5 ANGZ- ITEMNO :- \\\ y\
MATERIAL Z & 4 freight rail
\ STANDARD LUGS AND FERRULES
VERSION INFO :- & wwI d wwm
APPROVED AUTHORISED VERSION 1 Ad
DRAWN: D HATTINGH DESIGNED: CHECKED: H VAN VUUREN

DO REF: CDO/ 8126 ECP REF:



STORES CABLE STUD DIMENSIONS STORES | NORMAL LUG| STUD DIVENSIONS
ITEM NO. m’ 2@ | A B C D E F MEM NO. | SZEmm | B (6) | A B ¢ D E F
; 15 3 19 38 7 9 45 7 f 50 [ 0| 128 | 16 17 8 18
: 4 2 45 7 - 8 16 17 9 18
: 5 12 45 8 L 10 17 % 10 2
; 6 13 55 9 : 12 18 2 10 20
- 25 3 24 39 73 85 45 7 ; % 18 30 13 %
5 4 2 45 7 . P 18 30 13 %
: 5 12 45 9 p i) 8 17 | 15 | 205 | 2 95 21
- 5 13 55 95 : 10 2 ) 11 n il
; 8 15 75 12 - 12 7 ) 2 n
- 4 3 28 47 8 g 45 7 - 16 2 2 14 28
: 4 8 12 45 7 - 2 2 # 15 0
; 5 8 2 45 85 - % 8 135 | 174 | B % 95 2%
E 6 8 3 55 10 p 10 % 13 %
: 8 8 7 65 13 - 12 ) 13 %
; 10 1 19 75 1 : 16 ) 14 2%
. 6 4 34 53 85 12 45 75 - 20 % 16 3
: 5 85 7 45 85 - 120 10 155 | 198 | % % 12 7
- 5 85 13 55 95 : 2 ) 12 %
; 8 93 | W 7 13 - 1% 2 14 3
E 10 1 19 75 15 B 20 % 16 )
i 10 5 44 53 | 105 2 45 9 B 150 10 17 2 a 31 12 31 TOLERANCES
- 5 05 | B 6 10 i 12 ) 16 ) o | el .
E 8 1 17 75 13 . 16 S 16 n :
- 10 1 19 | 75 | 5 E 2 ® | 16 | A | szes over 7am %2
. 12 12 n 10 19 ; 185 10 B | 24 | 2 n | 125 | o | 5 b0 e 218
p 16 5 55 76 12 13 55 | 105 ) 12 31 16 u
. 6 13 55 11 3 16 % 16 % B | szes over 1omm %.N
: 8 L /- - L % 19 % OM | SIZES UP TO Bmm 295
; 10 2 75 15 ; 240 10 25 | 77 | B % 16 )
2 12 2 105 18 - 2 % 1 40 E | szes over Bom 0
2 16 27 3 % : 15 3 0 a0 o | s 05
- % 6 69 9 15 16 3 1 ; 2 n 20 )
- 8 17 8 14 - 300 10 45 3 k] » 15 45 _u SIZES OVER 8mm 10
: 10 18 8 5 5 12 3% 15 % - .
- 12 2 1 18 : 16 s 15 45 STUD SIZE -
' 6 7| 5| = - 0 5 | B | & G 2
g 5 6 82 | 107 | 15 18 8 1% - 40 16 75 | %6 | 4 47 I 51
- 8 15 18 9 16 NOTES
- - * = s = 1. COPPER TO SPECIFICATION SANS 460, FULLY ANNEALED.
2. LUG TO BE THOROUGHLY ELECTRO-TINNED TO SANS 2093
- 12 . L] 2 L 18 SN12C INTERNALLY AND EXTERNALLY.
- % w 15 0 [ 2% 3. THE FOLLOW PERMANENT MARKINGS MUST APEAR ON THIS ARTICLE:
{a) MANUFACTURERS IDENTIFICATION.
(b) CABLE SIZE.
4 WHEN LUG IS FORMED, MATERIAL MUST NOT BE FRACTURED |m_|
5 INSPECTION HOLE TO BE PROVIDED.
| z ”
e . . A T ransner
MATERIAL  : TINNED COPPER STANDARD COPPER LUGS freight rail
BBH1332 SHT 1
DRAWN - D HATTINGH CHECKED : D HATTINGH VERSION 1 A3




STORES CABLE | STUD DIMENSIONS
ITEM NO. e 26 | A B c D E F
; 25 8 7 13 | 2 7 1 17
- 10 17
. 12 2
. 5 8 83 | 129 | % 17 n 2 ¢
- 10 MIN
- I Y A w
H 50 10 99 | u1 | = 7 2 | @ o _ i
- 12 2 "
: 6 %5
% 0 10 | w % 17 n %
- 12
: 1
: % 10 BT | 197 | B 7 7 | 5 S—
- 17 F e .
; 16 —====
- 120 10 53 | 22 | 4 17 12 3 c NOTE 3
- L NOTE 1
R 16
: 150 17 72 | a7 | # 2 18 3
. 18
- 2
. 18 12 9 | 273 | 8 20 I ®
z 1
: 2
TOLERANCES
DM | SIZES UP TO 7mm s
A | sizes over 7mm 9
~r NOTES
DIM | SIZES UP TO 10mm 0 1. THE FOLLOW PERMANENT MARKINGS MUST APEAR ON THIS ARTICLE:
3 FACT IDENTIFICATION
B [smomme 7 guraman o
Y| P 05 2. WHEN LUG IS FORMED, MATERIAL MUST NOT BE FRACTURED.
3. INSPECTION HOLE TO BE PROVIDED.
E | sies over amm 510
DM | SIZES UP TO 8mm 05
F | sizEs over anm 10
DIM
G STUD SIZE “a ._m @_
¢ Fanmr
WATERIAL - ALuMon STANDARD ALUMINIUM  LUGS e
BBH1332 SHT 2
DRAWN D HATTINGH CHECKED - D HATTINGH VERSION 1 A3




I@i

© COPYRIGHT PROTECTED. PREPARED BY CENTRAL DRAWING OFFICE

MATERIAL ~ : TINNED COPPER

STANDARD TINNED
COPPER FERRULES

DRAWN : D HATTINGH

CHECKED :D HATTINGH

STORES CABLE DIMENSIONS TOLERANCES _J MIN —
ITEM NO. m? A B ¢ i —
. 15 19 36 127 DIM | SIZES UP TO 7mm 415 " _l TR | %
- 25 24 39 143 0 Lo 1
: - R A | szes over 7mm %m
= 5 ) 53 7 DIM | SIZES UP TO 10mm ¢
- 10 44 63 198 w SIZES OVER 10mm mo.M
- 16 55 76 P
- 25 69 9 247
: 3 8.2 107 | 215
; 50 10 128 | 308
; 70 17 15 344
; 95 135 | 174 | 385 NOTE 1
- 120 155 | 198 | 429
: 150 17 2 481
8 185 19 u4 | 536
A 240 75 | 217 60
3 300 u5 | 33 67
. 400 275 | 36 80
. 500 316 40 90
- 630 M5 | 45 | 10
. 800 40 512 | 130
- 1000 4 566 | 154
NOTES
1. THE FOLLOW PERMANENT MARKINGS MUST APEAR ON THIS ARTICLE:
{a) MANUFACTURERS IDENTIFICATION.
(b) CABLE SIZE.
2. WHEN FERRUL IS FORMED, MATERIAL MUST NOT BE FRACTURED.
3. FERRULE TO BE ELECTRO-TINNED TO SANS 2083 SN12C INTERNALLY
AND EXTERNALLY.
DIMENSIONS - mm SCALE : NTS W,
TOLERANCE :LIN:+-  ANGt- \ TRANSNET

freightrail

BBH1332 SHT 3

VERSION 1 Ad




STORES CABLE DIMENSIONS

ITEM NO. mm? A B c
i 2% 7 13 66
- 35 83 129 70
- 50 99 147 74
; 70 17 17 78
: 95 137 | 197 8
. 120 53 | 22 91
- 150 72 | u1 |
- 185 19 73 | 108
2 240 218 31 118
- 300 249 35 130

@ COPYRIGHT PROTECTED. PREPARED BY CENTRAL DRAWING OFFICE

TOLERANCES
DM | SZES UP TO 7mm s
A | szEs over 7om %
DM | SiZES UP TO 10mm e
B | sizes over 1omm o

NOTES

NOTE 1

1. THE FOLLOW PERMANENT MARKINGS MUST APEAR ON THIS ARTICLE:

(a) MANUFACTURERS IDENTIFICATION.

{b) CABLE SIZE.
2. WHEN FERRULE IS FORMED, MATERIAL MUST NOT BE FRACTURED.

DIMENSIONS : mm

MATERIAL  : ALUMINIUM

SCALE : NTS

TOLERANCE :LIN:t-  ANGt-

DRAWN : D HATTINGH

CHECKED : D HATTINGH

STANDARD ALUMINIUM FERRULES

A /
‘ TRANSNET
freight rail

BBH1332 SHT 4

VERSION 1 Ad




SEE NOTE &

s

NOTE

6. PITCH TO SUIT CLAMP FORCES IN NOTE 3.

1. CLAMP NOT FOR CONDUCTIVE PURPOSES AND ELECTRICAL SPLICING.

2. CLAMP TO BE USED AS MECHANICAL CLAMP ONLY.

3. CLAMP TO BE MADE IN ACCORDANCE TO SANS 813, HIGHER GRADE BODIES.
4. CLAMP FORCES TO BE EQUAL TO TABLE 2 IN SANS 813

5. CLAMP TO BE HOT DIPPED GALVANISE IN ACCORDANCE TO SANS 121.

STORES ITEM NO. | WIRE SIZE METRIC | WIRE SIZE INCHES A B C D MIN.
54003859 @8 T0 @10 038 14.2 M10 38 27
54017021 811700 13 2112 17.5 M12 60 48
54001201 916 0 58 19 M14 65 50
54003872 919 0 34 22.3 M16 70 54
54032590 922 8718 254 M18 95 77

SPRING LOCK WASHER, STEEL, SINGLE COIL, SQUARE SECTION, GALVANISED TO SANS 121.

HEXAGON NUT, STEEL GRADE 8.8, GALVANISED TO SANS 121.

o oo | e

U BOLT, STEEL, GALVANISED TO SANS 121 AFTER MANUFACTURED

2
2 . =
1
y

. @ 1 | CROSBY CLAMP SADDLE

i TORES ITEM
© COPYRIGHT PROTECTED. PREPARED BY CENTRAL DRAWING OFFICE ! o DESCRIPTION ary| STORESITEM | peawin N
DIMENSIONS - mm SCALE :1:1 28/02/2024 =,
TOLERANCE  :LIN:05 ANGz1® ITEMNO :- P TRANSNET
MATERIAL 3 3 \M.ll freight rail
(o g i
Govandlar CROSBY CLAMP
VERSION INFO ITEM 3 AND 5 AMENDED. BBH1889
APPROVED: W SCHOEMAN AUTHORISED: T GOVENDER VERSION 3 A
DO REF: CDO/ EQ47" ECP REF: - DRAWN: D RATTINGH DESIGNED: CHECKED: D HATTINGH




NOTE

1. CONTACT WIRE SPLICE TO SPECIFICATION CEE 0063.

2. THE FOLLOWING PERMANENT MARKINGS MUST APPEAR ON THIS ARTICLE:

a) TRANSNET LOGO.

b) MANUFACTURERS IDENTIFICATION.
c) DATED BATCH NUMBER.

d) CONTACT WIRE SIZE.

e) TORQUE = 3 x 46Nm

3 | BOLT, HEXAGON HEAD, STAINLESS STEEL TO SPEC. CEE 0083, M10 x 30 LONG 8 - -
2 | WEDGE LOCK WASHER, STAINLESS STEEL TO SPEC. CEE 0063, M10 8 8 .

— @ 1| CHEEK, Cu-Ni-Si TO SPEC. CEE 0063. 2 i BBH2137 SHT 2
© COPYRIGHT PROTECTED. PREPARED BY CENTRAL DRAWING OFFICE : _ﬁ,._ DESCRIPTION ary wsx_mw TEM | brawinG NO
DIMENSIONS ~ : mm SCALE :1:1 ¥ #* v,

TOLERANCE  :LIN:- ANG:-  ITEM NO : 54006827 05/08/2020 05/08/2020 \ TRANSNET
MATERIAL - M\\\\ OOZUCO._-OW WTF_Om >mmm§W—.< freightrail
VERSION INFO - HOLE @11 CHANGED TO 011,5. HOLES G \ 107mm? Cu. CONTACT WIRE BBH2137
MOVE DOWN.
AP /W SCHOEMAN UTHORISED: S SMIT VERSION 2 Ad
CHECKED: D HATTINGH

DO REF: CDO/E0013 ECP REF: - DRAWN: D HATTINGH

DESIGNED:



5 SERRATED AT 1,5x 0,3 DEEP

8-
] &
iy
m \\/
ok} N s
o N N g
R 0§
\I ROB ]
32 2
2%
SCALE 1:1
DIMENSIONS : mm SCALE :5:1 “
TOLERANCE :LIN% 0,2 ANG% 1° TRANSNETN
MATERIAL  : Cu-Ni-Si ALLOY TO SPEC CEE 0063 CONDUCTOR SPLICE PROFILE freight rail
_ 107mm? Cu. CONTACT WIRE BBH2137 SHT 1
© COPYRIGHT PROTECTED. PREPARED BY CENTRAL DRAWING OFFICE |DRAWN : D HATTINGH CHECKED : D HATTINGH VERSION 2




4HOLESMIDX15-6H 5 11,5 x4 HOLES

286

1.3

25

nnannannntnanaunANNN

L1l

57

73

89

105

121

130

NOTE

1. CONTACT WIRE SPLICE TO SPECIFICATION CEE 0063.
2. THE FOLLOWING PERMANENT MARKINGS MUST APPEAR ON THIS ARTICLE:

a) TRANSNET LOGO.

b) MANUFACTURERS IDENTIFICATION.

c) DATED BATCH NUMBER.
d) CONTACT WIRE SIZE.
e) TORQUE = 3 x 46Nm

@

© COPYRIGHT PROTECTED. PREPARED BY CENTRAL DRAWING OFFICE

26

PROFILE AS PER BBH2137 SHT 1

DIMENSIONS : mm SCALE :1:1
TOLERANCE : LIN£0,2 ANG#-
MATERIAL  : Cu-Ni-Si ALLOY TO SPEC CEE 0063

DRAWN : D HATTINGH CHECKED : D HATTINGH

CONDUCTOR SPLICE CHEEK
107mm? Cu. CONTACT WIRE

W,
\ TRANSNEI

freight rail

BBH2137 SHT 2

VERSION 2

Ad




APPROVED: § SMIT

AUTHORISED: L 0 BORCHARD

STORES ITEM NO. | STORES ITEM NO.
FOR 107mm? FOR 161mm? COPPER CONDUCTOR SIZES
CONTACTWIRE | CONTACT WIRE
54014849 54000920 50mm? / 63mm? / T0mm?
NOTES
1. FEEDER CLAMP TO SPECIFICATION CEE 0063.
2. FEEDER CLAMP TO BE SUPPLIED AS A COMPLETE ASSEMBLY. 54014850 54001949 80mm? / 100mm*
54014862 54004930 160mm?
54014874 54004954 250mm?
3 T LOCKING WASHER, INTERNALLY TOOTHED, STAINLESS STEEL TO SPEC. AISI GR 304, M12. 2 . i
2 | BOLT, HEXAGON HEAD, STAINLESS STEEL TO SPEC. AISI GR 304, M12 x 35 LONG. 2 - f
) | FEEDER HALF CLAMP FOR 161mm? CONTACT WIRE. 2 - BBH2142 SHT 2
I_M_ — @ FEEDER HALF CLAMP FOR 107mm? CONTACT WIRE. 2 - BBH2142 SHT 1
: ITEM DESCRIPTION qry| STORESITEM | N
© COPYRIGHT PROTECTED. PREPARED BY CENTRAL DRAWING OFFICE ' NO IPTIO NO RAWING NO
DIMENSIONS  : mm SCALE :1:1 2019-05-28 2019-05-28 ‘ : W,
TOLERANCE  : LIN:0,5 ANG:0,5° ITEM NO :- FEEDER CLAMP ASSEMBLY ‘ TRANSNEI
MATERIAL e ) )
2 freight rail
FOR 107mm? AND 161mm SRHO 142
VERSION INFO : -
Cu. CONTACT WIRE e

DO REF: CDO/ 9365

ECP REF. - DRAWN: D HATTINGH

DESIGNED:

CHECKED: D HATTINGH




NOTES

1. FEEDER CLAMP TO SPECIFICATION CEE 0063.
2. THE FOLLOWING PERMANENT MARKINGS MUST APPEAR ON THIS ARTICLE:

a) TRANSNET LOGO.

b) MANUFACTURERS IDENTIFICATION.
c) DATED BATCH NUMBER.

d) WIRE SIZES.

e} TORQUE AS °T = 50Nm".
3. THESE SURFACES TO BE SERRATED: 1,5 PITCH x 0,3 DEEP.
4. ALL UNSPECIFIED RADII R2.

M12x1,75-6H

© COPYRIGHT PROTECTED. PREPARED BY CENTRAL DRAWING OFFICE

DIMENSIONS

COPPER CONDUCTOR SIZES TS TEel o T:
50mm | 63mm? | T0mm? 458 | 155, 215 | 65 | 115
80mm? / 100mm? 655 | 1556| 295 | 65 | 135
160mm 855 | 155 315 | 65 | 155
250mm’ 1055 | 185] 335 95 | 18

DRAWN : D HATTINGH

CHECKED : D HATTINGH

- A
B
SEE NOTE 3
DIMENSIONS : mm SCALE -1:1 W,
e FEEDER HALF CLAMP FOR ¥ ransner
107mm? Cu. CONTACT WIRE BBH2142 SHT 1
VERSION 1 -




NOTES

1. FEEDER CLAMP TO SPECIFICATION CEE 0063.

2. THE FOLLOWING PERMANENT MARKINGS MUST APPEAR ON THIS ARTICLE:

a) TRANSNET LOGO.

b) MANUFACTURERS IDENTIFICATION.

¢) DATED BATCH NUMBER.
d) WIRE SIZES.
¢) TORQUE AS T = 50Nm".

3. THESE SURFACES TO BE SERRATED: 1,5 PITCH x 0,3 DEEP.

4. ALL UNSPECIFIED RADII R2.

010441
010,106

M12x1,75-6H

IME

COPPER CONDUCTOR SIZES : wa ﬂm_ozwa :
50mm 45%| 1595| 275 | 65 | 115
80mm? / 100mm’ 65| 1555] 25| 65 [ 135
160mm? 85%5| 153| 315 | 65 | 155
250mm? 105%| 1855] 335 | 95 | 1B

SEE NOTE 3
DIMENSIONS : mm SCALE : W,
e Sasusse T e i
: 161mm?2 Cu. CONTACT WIRE mm_._mzm SHT 2
VERSION 1 M

© COPYRIGHT PROTECTED. PREPARED BY CENTRAL DRAWING OFFICE JDRAWN : D HATTINGH

CHECKED : D HATTINGH




R 27,5 (MAX)

SEE NOTE 5

1700 +10

20 (MAX)

NOTE

MATERIAL TO BE ULTRAVIOLET AND INFRA-RED RESISTANT.
MATERIAL TO BE DIESEL AND STEAM LOCOMOTIVE SMOKE RESISTANT.
RESIN TO CONTAIN AN ANTI-TRACKING SUBSTANCE.

e T

THE FOLLOWING PERMANENT MARKINGS MUST APEAR ON THE FINAL PRODUCT:
{a) MANUFACTURERS IDENTIFICATION.

(b) VOLTAGE RATING.

(c) DATED BATCH NUMBER.

7. SEE BBH2145 SHT 1 FOR ALTERNATIVE DESIGN.

=@ [

THE SURFACE OF INSULATOR TO BE SMOOTH AND FREE OF ANY GROOVES OR GRACKS.

WASHERS TO BE FIXED PERMANENTLY TO BUSH (BY BRAZING OR SLIGHTLY FLARING THE BUSH.

SPECIFIC REQUIREMENTS

1. MINIMUMTENSILE BREAKING LOAD 55kN

2. WORKING LOAD 22N

N 3. LIGHTING IMPULSE WITHSTAND VOLTAGE 250KV
SEENOTE® % WITHSTAND ALTERNATING VOLTAGE UNDER RAIN 95kV

5. COLOUR: GREY

BUSH, STAINLESS STEEL, 1,2 (MIN) WALL THICKNESS TO SPEC AISI GRADE 304.

WASHER, STAINLESS STEEL, @55(MAX) x 1 THICK TO SPEC AISI GRADE 304.

INSULATOR, FIBRE GLASS.

1

STORES ITEM DRAWING NO

© COPYRIGHT PROTECTED. PREPARED BY CENTRAL DRAWING OFFICE NO DESCRIPTION Ty 2
DIMENSIONS  :mm SCALE :1:5 2019-01-29 2019-01-29 e/
COLERANCE . LIN£0.5 ANGE-  ITEM NO : 54016266 25kV FIBRE GLASS ‘ TRANSNET
MATERIAL S - reight rail
INSULATOR FOR INSULATED mw%ﬁ mm ME
VERSION INFO : -
OVERLAP SPAN ARRANGEMENTS 2
APPROVED: S SMIT AUTHORISED: L 0 BORCHARD VERSION 1 Ad

DO REF: CDO/ 9282 ECP REF: - DRAWN: D HATTINGH

DESIGNED:

CHECKED: D HATTINGH




"THIS DRAWING CONTAINS PERSONAL INFORMATION AS DEFINED IN THE PROTECTION OF PERSONAL INFORMATION ACT. 2013 (POPIA)
THE INFORMATION CONTAINED HEREIN WILL BE PROCESSED IN ACCORDANCE WITH THE PROVISIONS OF POPIA®

TURNBUCKLE STORESITEMNO. | OLDDRAWINGNO. |  DRAWING NO.
@ . CEE-TNB-0032 BBH2962 SHT 1
54001913 CEE-TNB-0031 BBH2962 SHT 2
54031523 CEE-TNB-0079 BBH2962 SHT 3
54001925 CEE-TNB-0019 BBH2962 SHT 4
. BBGO1S1 ITEM 4 BBH2962 SHT 5
NOTES
1. FOR INSTALLATION AND USE SEE ENGINEERING INSTRUCTION B.007.
2. THE FOLLOWING PERMANENT MARKINGS MUST APPEAR ON THIS ARTIGLE:
(3) ORIGINAL EQUIPMENT MANUFACTURER'S LOGO.
(b) DATED BATCH NUMBER.
(c) WORKING LOAD RATING.
3. TURNBUCKLE TO GOMPLY WITH SANS 1536 (DROP FORGED) EXCEPT FOR DIMENSIONS
SHOWN.
4 IN HIGH COROSIVE APPLIGATIONS COMPLETE TURNBUCKLES MAY BE ORDERED IN STAINLESS STEEL.
©® COPYRIGHT PROTECTED. PREPARED BY CENTRAL DRAWING OFFICE
DIMENSIONS ~ : mm SCALE :1:5 28/02/2024 W,
TOLERANGE ‘LIN:1 ANG=- ITEMNO: - Ao 5 TURNBUCKLES TRANSNET
= —_— reight rail
. = | PPwecic VARIOUS SIZES -
VERSION INFO : REVISED AND REDRAWN BBH2962
APPROVED : W SCHOEMAN AUTHORISED : T GOVENDER VERSION 2 A
DO REF : CDOJE04T1 ECP REF . - DRAWN - D HATTINGH DESIGNED : - CHECKED . D HATTINGH




"THIS DRAWING CONTAINS PERSONAL INFORMATION AS DEFINED IN THE PROTECTION OF PERSONAL INFORMATION ACT. 2013 (POPIA)
THE INFORMATION CONTAINED HEREIN WILL BE PROCESSED IN ACCORDANCE WITH THE PROVISIONS OF POPIA"

M8 - 8g LH THREAD

vE1

M8 - 8g RH THREAD

o —=

\+1
L 1
o

1

|

I
N

12

@

NOTE
MAX. WORKING LOAD 17kN.

©® COPYRIGHT PROTECTED. PREPARED BY CENTRAL DRAWING OFFICE

4 22,5 HOLE,
\\l CSK HY 45° T0 @5

SEE DETAIL A" 3
1] :._|__ |_|||||_T

4 | NON-CORROSIVE LOCKING P 2 - -

3 | NUT, HEX, LOCKING, GRADE 8.8, STAINLESS STEEL, M8, 1 - -

2 |BUCKLE 1 - -

m 1| EYE BOLT, LEFT AND RIGHT THREADS, M8, 2 7 -
_“_wz DESCRIPTION QTY | STORESITEMNO. |  DRAWING NO.
DIMENSIONS  © mm SCALE :1:1 v,
TOLERANCE LIN=05 ANG+1  ITEMNO:- TRANSNET
MATERIAL  © Cu-Ni-Si TO SPEC. CEE-D063 ALT. STAINLESS M8 TURNBUCKLE freight rail
STEEL.
75mm TAKE-UP BBH2962 SHT 1

DRAWN : D HATTINGH CHECKED : D HATTINGH VERSION 2 Ad




"THIS DRAWING CONTAINS PERSONAL INFORMATION AS DEFINED IN THE PROTECTION OF PERSONAL INFORMATION ACT. 2013 (POPIA)
THE INFORMATION CONTAINED HEREIN WILL BE PROCESSED IN ACCORDANCE WITH THE PROVISIONS OF POPIA"

202

M16 - 8g LH THREAD (101LG)

153,50

/,4

M16 - 8 RH THREAD (101LG)

© COPYRIGHT PROTECTED. PREPARED BY CENTRAL DRAWING OFFICE

@5 HOLE,
CSK BY 45°TO @7

N

DRAWN : D HATTINGH

CHECKED : D HATTINGH

@24
SEE DETAIL"A"
—_ [ ——
e e e e (P i A
e - J Ugs, _
/l’ \
NOTES
1. MAXIMUM WORKING LOAD 30,75kN
2. ITEM 1 TO HAVE GALVANIZING RESTORED TO SANS 121 AFTER NUT (ITEM 3)
HAS BEEN ATTACHED
4 | NON-CORROSIVE LOCKING PIN. 2 - -
3| NUT, HEX, LOCKING, GRADE 8.8, GALVANISED TO SANS 121, M16 1 - -
2 | BUCKLE. 1 - -
1| EYE BOLT, LEFT AND RIGHT THREADS, M16. 2 - ;
_H__w\_ DESCRIPTION ary | STORESITEMNO. | DRAWINGNO.
DIMENSIONS - mm SCALE :1:2 A /
TOLERANCE LIN+05 ANG=1  ITEMNO: 54001913 TRANSNET
MATERIAL  ° DROP FORGED STEEL TO SANS 1596. M16 TURNBUCKLE freight rail
110mm TAKE-UP BBH2962 SHT 2
VERSION 2 Ad




"THIS DRAWING CONTAINS PERSONAL INFORMATION AS DEFINED IN THE PROTECTION OF PERSONAL INFORMATION ACT. 2013 (POPIA)
THE INFORMATION CONTAINED HEREIN WILL BE PROCESSED IN ACCORDANCE WITH THE PROVISIONS OF POPIA”

M20 - 83 LH THREAD 105LG

130

M20 - 8g RH THREAD 105LG

SEE DETAIL"A"

T~

© COPYRIGHT PROTECTED. PREPARED BY CENTRAL DRAWING OFFICE DRAWN : D HATTINGH

R T

- — - — - — - —

b=l [T 1y

@24

NOTES
1. MAXIMUM WORKING LOAD 56,25kN

@6 HOLE,
CSKBY 45° TO 28

DETAIL "A"

2.ITEM 1 TO HAVE GALVANIZING RESTORED TO SANS 121 AFTER NUT (ITEM 3)

HAS BEEN ATTACHED

CHECKED : D HATTINGH

4 | NON-CORROSIVE LOCKI 2 2 B
3 |NUT, HEX, LOCKING, GRADE 8.8, GALVANISED TO SANS 121, M20 1 = ?
2 | BUCKLE. 1 22 ¢
° m @ 1 EYE BOLT, LEFT AND RIGHT THREADS, M20. 2 = &
A _._M___wg DESCRIPTION QTY | STORES ITEM NO. DRAWING NO,
DIMENSIONS - mm SCALE 132 " 1RANSNET
TOLERANCE " LIN+05 ANG=- ITEMNO: 54031523
MATERIAL " DROP FORGED STEEL TO SANS 1596. —/\_NO ._.CEZWCOTA_Im _ﬂqmmmw_w rail
130mm TAKE-UP BBH2962 SHT 3
VERSION 2 Ad




"THIS DRAWING CONTAINS PERSONAL INFORMATION AS DEFINED IN THE PROTECTION OF PERSONAL INFORMATION ACT. 2013 (POPIA)
THE INFORMATION CONTAINED HEREIN WILL BE PROCESSED IN ACCORDANCE WITH THE PROVISICNS OF POPIA'

400 - 460

| z
= 8
W |
&
@5 HOLE, CSK BY 45° TO @8
1 S S |“ =
mw_ —————————————— ————— .m
/I @21
1 SEE DETAIL"A" 3
1
DETAIL "A'
e e PP =25 T —
Cld) I,||I|||||Hﬁ||l|||.l (1)
e o
1 4@ i
SEE DETAIL"A"
% )
S
~
=
=
\. [N\ 8
| — —H<D)-
ALTERNATIVE EYE BOLT
p— 5 | ALTERNATIVE EYE BOLT, LEFT AND RIGHT THREADS, M22.
1. MAX., WORKING LOAD: 80KN. 4 | NON-CORROSIVE LOCKING PIN. 2 - -
2. ITEM 1 TO HAVE GALVANIZING RESTORED TO SANS 121 AFTER NUT (ITEM 3) 3 | HEX NUT, LOCKING, GRADE 8.8, GALVANISED TO SANS 121, M22. 1 = -
HAS BEEN ATTACHED. :
2 | BUCKLE. 1 - -
m_ 1 | EYE BOLT, LEFT AND RIGHT THREADS, M2, 2 - -
_H,_w,._ DESCRIPTION ary | STORESTEMNO. |  DRAWING NO.
DIMENSIONS ~ * mm SCALE : 15 W,
TOLERANCE ' UIN05 ANG=1  ITEMNO: 54001925 TRANSNET
MATERIAL  ° DROP FORGED STEEL TO SANS 1596. M22 TU RNBU CKLE freight rail
400mm - 460mm TAKE-UP BBH2962 SHT 4
VERSION 2 Ad

© COPYRIGHT PROTECTED. PREPARED BY CENTRAL DRAWING OFFICE

DRAWN : D HATTINGH

CHECKED : D HATTINGH




*“THIS DRAWING CONTAINS PERSONAL INFORMATION AS DEFINED IN THE PR
THE INFORMATION CONTAINED HEREIN WILL BE PROCESSED IN ACCORDANC

OTECTION OF PERSONAL INFORMATION ACT. 2013 (POPIA)
E WITH THE PROVISIONS OF POPIA"

40

25

© COPYRIGHT PROTECTED. PREPARED BY CENTRAL DRAWING OFFICE

100-120
@17 HOLE
— T
[}
lumrl o S e ]
fllllll'l’
/|mmm DETAIL"A" _/
1 3 ) 3
J -
L & Al —ﬂd_:— s -1
< (1| P —— - —-—— =
e L] 1_11) Ll iy —
J 1
1 7 |
@6 HOLE
CSK BY 45° TO @7
DETAIL "A"

NOTES

1. MAX. WORKING LOAD: 40kN, SAFETY FACTOR 2,5.
2. ITEM 1 TO HAVE GALVANIZING RESTORED TO SANS 121 AFTER NUT (ITEM 3)

HAS BEEN ATTACHED.

2 | NON-CORROSIVE LOCKING PIN. 2 - :

3 [NUT,HEX. LOCKING, STEEL GRADE 8.8, GALVANISED TO SANS 121, LH AND RH THREAD, M20. | 2 - :

2 |BUCKLE. p - -

T [EVE BOLT, LEFT AND RIGHT THREADS, M20. 2 - -

_ﬂ,_mo,.; DESCRIPTION ary | STORESITEMNO. |  DRAWING NO.
DIMENSIONS - mm SCALE : 1:5 " S —
TOLERANCE  "LINx1 ANG + - ITEMNQ: -
MATERIAL DROP FORGED STEEL TO SANS5%. M20 TURNBUCKLE freight rail
110 - 120 TAKE-UP BBH2962 SHT 5
VERSION 2 M

DRAWN : D HATTINGH

CHECKED : D HATTINGH




